B2

The cat on the table.
Answer:

The dogs in the park.
Answer:

The bird in the tree.
Answer:

The squirrel nuts.
Answer:

The rabbits in the garden.
Answer:

The fish in the pond.
Answer:

The horse in the field.
Answer:

The butterfly

in the garden.

Answer:

The bees flowers.
Answer:

The lion in the grass.

Answer:




Answers

The cat on the table.
Answer: is sitting

The dogs in the park.
Answer: are playing

The bird in the tree.
Answer: is perching

The squirrel nuts.
Answer: is gathering

The rabbits in the garden.
Answer: are hopping

The fish in the pond.
Answer: are swimming

The horse in the field.

Answer: is grazing

The butterfly in the garden.
Answer: is fluttering

The bees flowers.
Answer: are pollinating

The lion in the grass.

Answer: is lying



